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A grocery store orders 47 bags of onions
and 162 bags of potatoes. The onions cost
$2 per bag, and the potatoes cost $3 per
bag. How much is spent on onions and
potatoese

Ms. Kennedy wants to give 8 pencils to
each of her students. She already has 81
pencils. There are 24 students in the class.
How MANY MORE pencils does she need to
buy?

A college basketball stadium has 4 sections
of seats. Each section has 24 rows, with 15
seats in each row. During a basketball
game, one of the sections was entirely filled
with fans. How many fans were sitting in this
section?

There are 25 animal exhibits at an animal
theme park. Each exhibit has 18 animals.
How many total animals are at the animal
theme park?e

Colton is finding the product of 62 and 50.
Which equation should he use?

A. (60 x 50) + (20 x 50)
B. (60 x 50) + (2 x 50)
C. (6 x50) + (20 x 50)
D. (6 x50) + (2 x 50)

Luke made a rectangle out of small
squares.

What is the total areq, in square units, of
the rectangle?¢

10 + 10 + 1

10




Jaelen’s math workbook has 35 practice A movie theater has 52 rows with 26 seats in
questions in each chapter. There are 17 each row. What is the total number of seats
chapters in the workbook. How many in the theater?e

practice questions are there in totale

The Footlight Theater Company is The company is planning to begin
performing a play. The production of the performing the play 3 nights per week for 3
play costs the company $15,300. Tickets weeks. How much money will the company

' 2
cost $5 each. The theater has 15 rows of make if every show sells outs

seats. Each row has 20 seats.

e On its opening night, the show sold
out. How much money did the
company make on opening nighte




